t12 trees_1
(TMNBL5AH712TZj jRCe2WShMOSTTphZEg7g] )

October 27, 2020

Let vl_relat_1 : t.=>0 be given. Let v1_funct_1: 1=>0 be given. Let v1_finseq-1 :
t=0 be given. Let k1 _trees_1 : 1= be given. Let r2_zboole_0 : t1=>1=>0 be given.
Assume the following.

VX0.((vlorelat-1 X0)A((vl_funct-l X0)A(vl_finseq-1 X0)))=
(VXL(X1 = kl_trees.1 X0)=(VX2.(X2 € X1)&(3X3. .
((virelat-1 X3)A((vl-funct1 X3)A(vl_finseq-1 X3))A((X2 = (1)
X3)A(r2_zboole 0 X3 X0)))))

Theorem 1

VX0.((vlrelat-1 X0)A((vl_funct-1 X0)A(vl_finseq-1 X0)))=
(VX1.((virelat.1 XDHA((v1_funct.1 X1)A(vl_finseq_1
X1))=((X0 € kl_trees_.1 X1)<(r2_zboole_0 X0 X1)))



